NOTE: This wall mount is shipped with all proper installa- CAUTION: This mount is intended for use only
P tion hardware and components. Make sure that none of with the maximum weights indicated. Use with
these parts are missing and/or damaged before products heavier than the maximum weights
beginning installation. If there are parts missing and/or indicated may result in instability causing

damaged, please stop the installation and contact | possible injury. This product is intended to mount to

WALL MOUNT INSTALLATION GUIDE Clinton Electronics at 1-800-549-6393. wood studs, concrete or brick wall.

/\ Maximum Load Capacity:154 Ibs / 70 kgs /\

Included Items .

G: K: Q:
B: Mounting Brackets 5/16”x3” Bubble Level % M5x25 ey M8X20
2pcs 4pcs 1pc ’ 6pcs 6pcs
D: j H: M: L:
5/16” Washer M4x16 A M6x20 % M5 Washer
4pcs 6pcs 6pcs 6pcs

E: I: N: O:
1/47x2” % Max25 N, M6x55 % M6 Washer

4pcs 6pcs 6pcs 6pcs
A: Wall Plate
1pc
F: J P: R: )
Spacer @ M5x16 Ry M8X20 % M8 Washer (o)
4pcs 6pcs 6pcs 6pcs
Option 1: Mounting to Wood 1. Attach Mounting Brackets
With a stud finder, locate two 16" or 24" stud centers behind the wall. Once found, make a pencil marking on Use the appropriate VESA mounting screws and
the center of the wood studs. Level the plate with the bubble level and drill four 1/4” pilot holes. Secure the washers to attach the Mounting Brackets (B) to the
wall plate to the wall with the lag bolts & washers. display. Use Spacers (F) if necessary.
\ \
R R
|
Wood Studs i Mark stud
1 —_— Loty S | centor when

. located

MAX Load:
154 lbs / 70 kg

Use stud N
finder

16” typjcal
Use screws H-Q

(depending on the display’s
_~ VESAhole size/depth)

2. Mount Display to Wall Plate

Lower the display onto the wall plate so the hooks on
the mounting bracket catch the wall plate.

Use bubble level (G)
and pencil to mark
correct location

| // ,
| |
Use lag bolt (C)
| ‘ ) & washer (D) | ‘ )

‘I

——5-=-

Hold the wall plate in the desired position, and level it with the supplied bubble level. Then mark the holes with
a pencil. With a 5/16” masonry drill bit, drill holes 1.5” deep into the mounting surface. (You can measure the
depth of your drill by wrapping a piece of tape around the drill bit). Clean the dust from the holes and then push
the wall anchor expansion screw into the holes until the head of the bolt is flush against the wall plate. Finger
tighten, then use a wrench to fully secure.

“«mmmmm e

1'5”j Tape
A
Iy
¥ 3. Secure Display to Wall Plate
‘ * Tighten the screw on the bottom of the mounting
: brackets until they are firmly seated against the wall
Pencil Marks—__

plate.
|

.
% ) \ T wall Plate
SN pu 7
N o~ Mounting Y/ Mounting
> . Bracket —T—T——>| ! Surface
Use bubble level (G) A ’ racke :
B N N 1 | I I
\\\\ ‘ ‘
N, |
- ‘ ! Tighten Screws
Use wall anchor
expansion bolts (E)

)

and pencil to mark
correct location

/

clintonelectronics | 6701 Clinton Road Loves Park, IL 61111 | 800.447.3306 (Sales) | 800.549.6393 (Support) | www.clintonelectronics.com

*Information in this document is subject to change v.04.24.14



